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. a) logsx<2;
. a) log; x<3;
. a) log,x>-0,5;
- ) 10gg 123 X <0;

a) logix>2;
7

a) log o4 x> —1;

. a) logs(4x+5)<3;

. a) logy;(8x+25)<—2;

. a) logz2 (2x—2,5)<—1;
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. a) log;(10x —19) > 4;
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. a) log;(9x+4)>2;
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16.
17.
18.

a) log, ,(5x—7,5)>—1;

a) log,,(x*—25)>2;
a) log,(x*—36) <3;
a) 10g11_2(169—x2)<—2;

a) log 5(x*—16) > 4;

a) logas(25x2 —64) < 1;

a) log: (100 —x?) < —2;
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20.
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23.

. a) log,(5x*+16x) <4;
25.

a) log 1 (841 —-x%)>-2;

a) logy(x*—4x)>1;

a) log,(x*>—8x) <2;

a) 10gy 5 (17x —x%) > —2;
a) logys(x*+6x) < —4;

a) logi (11x—2x?) > —1;
12




[image: image5.png]26. a) log,s(5x*—16x)< 1;

27. a) logs(2x*+11x—4) >2;
28. a) log, (24— 2x —x*) > —4;
29. a) log%(zx2 —7x—3)<-2;
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a) logy(2x*+7x+5)>1,5;

2,

3

a) log?(13xfzx2711)>75;
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a) loge,(5x* —4x—12) <

a) logzéﬁ(sz +x—4)<-0,5;

a) log,(5x+7) <log,(3x+11);

a) logol9 (5x—33)> logolg(ZX +33);
a) In(2x+17) >1n(4x —13);

a) 1g(25x% —4) <1g(25 —4x?);

a) In(x®>—x—16) >In(9 —x);

a) 10g, 3 (x* — 12) <logy 55 (5x — x?);

a) log,,(2x*—7x+5) >log, ,(x*—5);




